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RNA & Transcription









Block____________

Use the following list of words to complete the passage below concerning the structure and function of RNA.  There is one word on the list that you will NOT use.
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RNA is different from DNA in several ways.  Where DNA contains the sugar 




, RNA contains the sugar 




.  In addition, RNA is made using the nitrogen-containing base                    



,while DNA contains the base 




.  Both RNA and DNA contain 




 groups.  Unlike DNA, RNA exists in three different forms.  One type, known as 




 Carries the genetic information from the 



 to the 






where the proteins are synthesized.  A second type of RNA, known as 






, transfers the amino acids to the 




.
These structures are made of proteins.  The third type of RNA is called 




.  All three types of RNA are made from DNA in a process called 





.  Just as the DNA does in replication, the two strands of the 





 separate.  Then DNA makes a strand of RNA that is 





 to the base sequence of DNA.  Therefore, the nitrogen-containing base 



 will pair with cytosine base in DNA, while 



 will pair with thymine base in DNA.  

What is the only word you that you did not use from the list above to complete the passage?  
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Name__________________________________________




Date_____________
RNA & Transcription









Block____________

Use the following list of words to complete the passage below concerning the structure and function of RNA.  There is one word on the list that you will NOT use.


RNA is different from DNA in several ways.  Where DNA contains the sugar 




, RNA contains the sugar 




.  In addition, RNA is made using the nitrogen-containing base                    



,while DNA contains the base 




.  Both RNA and DNA contain 




 groups.  Unlike DNA, RNA exists in three different forms.  One type, known as 




 Carries the genetic information from the 



 to the 






where the proteins are synthesized.  A second type of RNA, known as 






, transfers the amino acids to the 




.
These structures are made of proteins.  The third type of RNA is called 




.  All three types of RNA are made from DNA in a process called 





.  Just as the DNA does in replication, the two strands of the 





 separate.  Then DNA makes a strand of RNA that is 





 to the base sequence of DNA.  Therefore, the nitrogen-containing base 



 will pair with cytosine base in DNA, while 



 will pair with thymine base in DNA.  

What is the only word you that you did not use from the list above to complete the passage?  






	adenine			double helix			phosphate		thymine


	complementary		guanine			ribose			transcription


	cytoplasm			messenger RNA		ribosomes		transfer RNA		cytosine			nucleus			ribosomal RNA	uracil			deoxyribose
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